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1. Define T': Po(t) = R3 by T(p) = | p(0) |.

(a) (2 points) Let B = {1,t,t?} be a basis for Py(t) and let £ = {&1,&5,&3} be the standard
basis for R3. Find the matrix for T' relative to B and &.

o= [[f]of ]

(b) (2 points) Let p(t) = 1 + 2t + 3t? and use the above matrix and the coordinate transfor-
mation to compute [T'(p)]e.
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2. (3 points) Determine if the following are true or false. If a statement is false, explain why.

a) R? is a subspace of R3.
b) Ps(t) is a subspace of C]0, 1].

¢) The line y = 2z + 1 is a subspace of R?.
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